### **Transfers Report**

This report contains the transfers results.

Contest Name	Ward 18 - Hamilton West and Earnock	
Valid Votes	5,823	
Positions to be Filled	4	
Quota	1,165	

## Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Mary DONNELLY	Scottish National Party (SNP)	1,731
Allan FALCONER	Scottish Labour Party	1,404
Graham William FISHER	Scottish Conservative and Unionist	753
Leonard GINGELL	Scottish Greens - Think Global Act Local	179
Graeme HORNE	Scottish National Party (SNP)	680
Jim LEE	Scottish Labour Party	385
Mark MCGEEVER	Scottish Liberal Democrats	691
	Total	5,823

Candidate Mary DONNELLY Elected with 1,731 votes, being in excess of the quota of 1,165 Candidate Allan FALCONER Elected with 1,404 votes, being in excess of the quota of 1,165

## **Transfers Report**

This report contains the transfers results.

# Stage 2 - Surplus of Mary DONNELLY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Graham William FISHER	27	0.32697	8.82819
Transfer to Leonard GINGELL	129	0.32697	42.17913
Transfer to Graeme HORNE	1,407	0.32697	460.04679
Transfer to Jim LEE	21	0.32697	6.86637
Transfer to Mark MCGEEVER	48	0.32697	15.69456
No further preference	99	0.32697	32.37003
Not transferred due to rounding			0.01493
	Total		566.00000

### 566.00000

## **Transfers Report**

This report contains the transfers results.

239.00000

## Stage 3 - Surplus of Allan FALCONER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Graham William FISHER	101	0.17022	17.19222
Transfer to Leonard GINGELL	40	0.17022	6.80880
Transfer to Graeme HORNE	60	0.17022	10.21320
Transfer to Jim LEE	998	0.17022	169.87956
Transfer to Mark MCGEEVER	53	0.17022	9.02166
No further preference	152	0.17022	25.87344
Not transferred due to rounding			0.01112
	Total		239.00000

## **Transfers Report**

This report contains the transfers results.

# Stage 4 - Exclusion of Leonard GINGELL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Graham William FISHER	4	1.00000	4.00000
Transfer to Graeme HORNE	83	1.00000	83.00000
Transfer to Jim LEE	18	1.00000	18.00000
Transfer to Mark MCGEEVER	40	1.00000	40.00000
Transfer to Graham William FISHER	2	0.32697	0.65394
Transfer to Graeme HORNE	90	0.32697	29.42730
Transfer to Jim LEE	3	0.32697	0.98091
Transfer to Mark MCGEEVER	8	0.32697	2.61576
Transfer to Graham William FISHER	1	0.17022	0.17022
Transfer to Graeme HORNE	6	0.17022	1.02132
Transfer to Jim LEE	19	0.17022	3.23418
Transfer to Mark MCGEEVER	5	0.17022	0.85110
No further preference	34	1.00000	34.00000
No further preference	26	0.32697	8.50122
No further preference	9	0.17022	1.53198
Not transferred due to rounding			0.00000
	Total		227.98793

### 227.98793

## **Transfers Report**

This report contains the transfers results.

98.70861

# Stage 5 - Surplus of Graeme HORNE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Graham William FISHER	18	0.07811	1.40598
Transfer to Jim LEE	152	0.07811	11.87272
Transfer to Mark MCGEEVER	185	0.07811	14.45035
Transfer to Graham William FISHER	29	0.02553	0.74037
Transfer to Jim LEE	384	0.02553	9.80352
Transfer to Mark MCGEEVER	203	0.02553	5.18259
Transfer to Jim LEE	33	0.01329	0.43857
Transfer to Mark MCGEEVER	10	0.01329	0.13290
No further preference	408	0.07811	31.86888
No further preference	881	0.02553	22.49193
No further preference	23	0.01329	0.30567
Not transferred due to rounding			0.01513
	Total		98.70861

## **Transfers Report**

This report contains the transfers results.

## Stage 6 - Exclusion of Jim LEE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Graham William FISHER	49	1.00000	49.00000
Transfer to Mark MCGEEVER	140	1.00000	140.00000
Transfer to Graham William FISHER	1	0.32697	0.32697
Transfer to Mark MCGEEVER	6	0.32697	1.96182
Transfer to Graham William FISHER	150	0.17022	25.53300
Transfer to Mark MCGEEVER	337	0.17022	57.36414
Transfer to Graham William FISHER	8	0.07811	0.62488
Transfer to Mark MCGEEVER	80	0.07811	6.24880
Transfer to Graham William FISHER	26	0.02553	0.66378
Transfer to Mark MCGEEVER	195	0.02553	4.97835
Transfer to Graham William FISHER	3	0.01329	0.03987
Transfer to Mark MCGEEVER	17	0.01329	0.22593
No further preference	214	1.00000	214.00000
No further preference	17	0.32697	5.55849
No further preference	530	0.17022	90.21660
No further preference	64	0.07811	4.99904
No further preference	163	0.02553	4.16139
No further preference	13	0.01329	0.17277
Not transferred due to rounding			0.00000
	Total		606.07583

### 606.07583

## **Transfers Report**

This report contains the transfers results.

862.17942

## Stage 7 - Exclusion of Graham William FISHER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mark MCGEEVER	423	1.00000	423.00000
Transfer to Mark MCGEEVER	13	0.32697	4.25061
Transfer to Mark MCGEEVER	124	0.17022	21.10728
Transfer to Mark MCGEEVER	18	0.07811	1.40598
Transfer to Mark MCGEEVER	38	0.02553	0.97014
Transfer to Mark MCGEEVER	1	0.01329	0.01329
No further preference	383	1.00000	383.00000
No further preference	17	0.32697	5.55849
No further preference	128	0.17022	21.78816
No further preference	8	0.07811	0.62488
No further preference	17	0.02553	0.43401
No further preference	2	0.01329	0.02658
Not transferred due to rounding			0.00000
	Total		862.17942